
���������	��
����
����������������
������������
�����������������������������	��
����
����������������
������������
�����������������������������	��
����
����������������
������������
�����������������������������	��
����
����������������
������������
��������������������������������	�
�������
����������������
���������
����������������
��������

������ 

�������
�����������
�����������
�����������
�������� ������!� ������!� ������!� ������!��������"��"��#"� �������"��"��#"� �������"��"��#"� �������"��"��#"� ����
������
���

�������������
���� ��!��"����������
�

��$�����$�����$�����$���������
���������%	$�&�����&��������
�������� ��������
�'������"��"��#"�()�#��*����� �������
���������%	$�&�����&��������
�������� ��������
�'������"��"��#"�()�#��*����� �������
���������%	$�&�����&��������
�������� ��������
�'������"��"��#"�()�#��*����� �������
���������%	$�&�����&��������
�������� ��������
�'������"��"��#"�()�#��*����� ������������!�	�!�	�!�	�!�	�����#�'����	
�����"�#�'����	
�����"�#�'����	
�����"�#�'����	
�����"������"���#"��"���#"��"���#"��"���#"����
()�#��*��!������()�#��*��!������()�#��*��!������()�#��*��!��������
�������� �����
%����+,�������������-�&.������
�!�����#����������
�����/�'�'�����
�������� �����
%����+,�������������-�&.������
�!�����#����������
�����/�'�'�����
�������� �����
%����+,�������������-�&.������
�!�����#����������
�����/�'�'�����
�������� �����
%����+,�������������-�&.������
�!�����#����������
�����/�'�'�����������

#$�
��%�&'&&�

( !#��)*#�)#�
�

��� �����0����������1��������������������
�����������	�
��
�����

��� �����0��2��������1���+++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++�
�����������	���������

�#&.������������������++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++�
�������������	����	���	�����

�%	$�&�����������+++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++��%	$�%	$�%	$�%	$�&�����+���.�#���&�����+���.�#���&�����+���.�#���&�����+���.�#���+++++++++++++++++++++++++++++++++++++++++++�
����������	�������� � �������������������������������������������������������������������������������
��)��	�	�����


������
������
������
������������
����������3�4�����&���5	���
����������3�4�����&���5	���
����������3�4�����&���5	���
����������3�4�����&���5	�����
�
��
����������������������
���

�����

,-� ���������&���5	����������&���5	����������&���5	����������&���5	�����
�
��
��������
���

./'� ��	��	��	��	����
0�
��

&1��
����


�#&.������+���.�#
�#&.������+���.�#
�#&.������+���.�#
�#&.������+���.�#���������������
��*��������
���2�+++++++++++++++++++++++++++++++++++++++++++�

�%	$�&���������
���������	��������
������#�6���
���������������������$���()�#��*�����������
!!#7��%�#������
'��
�	��8������	
���������
�����!�()�#��*����&�
 ����5	���'����
���+����������#����������-�&.������ 
�!�����#����������
�����/�'�'����
������9��:����
����!���!&��#��+&�� 
�	��8������
�����
����������
�
�
#;�<������������()�#���
����#������
'���=#�����>����������	�
�	��8������	
��
��&��%	$�&�����������	
��
��&��%	$�&�����������	
��
��&��%	$�&�����������	
��
��&��%	$�&�������������
������
������
������
������������������������
������
��&�%�&�������������
��*�
��+��������
������
��&�%�&�������������
��*�
��+��������
������
��&�%�&�������������
��*�
��+��������
������
��&�%�&�������������
��*�
��+��������
����+�+�������
����
'���%	
$��	���������#&.������
?�����(�#������
�!������������
'���!�#�
�	��8�����������%	$�&��
�-���
#���!����+�+�������
����
'���%	
$��	���������#&.������
?�����(�#������
�!������������
'���!�#�
�	��8�����������%	$�&��
�-���
#���!����+�+�������
����
'���%	
$��	���������#&.������
?�����(�#������
�!������������
'���!�#�
�	��8�����������%	$�&��
�-���
#���!����+�+�������
����
'���%	
$��	���������#&.������
?�����(�#������
�!������������
'���!�#�
�	��8�����������%	$�&��
�-���
#���!�#������,#���
�#������,#���
�#������,#���
�#������,#���
���@/�-��������������@/�-��������������@/�-��������������@/�-�����������
��
�!����/��A����	��'	������8���#!�������+,��
�!����/��A����	��'	������8���#!�������+,��
�!����/��A����	��'	������8���#!�������+,��
�!����/��A����	��'	������8���#!�������+,�� ����
���!�#����/��<�
���@/�-���������?����
�!��������#����
��
!9�#��+&��
�	��8�������
���!�#����/��<�
���@/�-���������?����
�!��������#����
��
!9�#��+&��
�	��8�������
���!�#����/��<�
���@/�-���������?����
�!��������#����
��
!9�#��+&��
�	��8�������
���!�#����/��<�
���@/�-���������?����
�!��������#����
��
!9�#��+&��
�	��8���������

	
��
��&����������
+��&�!������8&���-	������
%������+,����������8&���-	����������4&�������8�����	
��
��&����������
+��&�!������8&���-	������
%������+,����������8&���-	����������4&�������8�����	
��
��&����������
+��&�!������8&���-	������
%������+,����������8&���-	����������4&�������8�����	
��
��&����������
+��&�!������8&���-	������
%������+,����������8&���-	����������4&�������8���������
*�������������3�������������4����(��	����	�#�������5����
��
����3�6�����
�������#�������5����
��4
��	�����
���	���	��
����������

 �%	
$��	�������
'��
�������%	
$��	�������
'��
�������%	
$��	�������
'��
�������%	
$��	�������
'��
���������� ���� ���� � *��0"7)0* ���8 "�0(#�)9�:*:90#��

.������B��B��#B� ()�#� �*�� 
�� �������
����� ��� ���#� #5��� +,�� 8/�
������� �������
��������������� �+��8��<����� ()�#��*�� 
���'��#�
-	��������!'���'��/�C'�?!�
����,�����
!!#7��%�#�������

���� ���� .���� ��!"�� #	�$��� % ���� ��� �	����� � ��� &
�����	� '��(�����
� �	�)�
���������*������������� ��&
�����	�'��(���+���(��
�
�� � �� !"�� #	�$��� % ���� �	�� ����� �	� � �� ,����*
�����
*����
��)�$�� �-��*(�-����,��	��,�	��	�)��

&�� �#&.��� �&��!
-�� &1���� >����>����>����>����� +,� �!�� �������
����� ���� ./'� ����� +,���
���
��D7��E���������+&��+,����
��D7��E���������+&��+,����
��D7��E���������+&��+,����
��D7��E���������+&��+,�����

���� ���� &�� � ��������������4
���	�������
�����
�����	��	��*�	������
���./'�.
�����	���0���������
����������
��������

;�� �����
!!#7����
����#����!��()�#��*���#�
������'��������
'��
��!'���'��/�C'�?!�
����,���'��/�C'�?!�
����,���'��/�C'�?!�
����,���'��/�C'�?!�
����,�������	�����#�����%	$�&���������
��������
(�	�����#����!��()�#��*������%�#���������!-���&�/#��������

���� ���� ;�� /���������������
�������� �	�)� ����$����	��,����*
�����
�	�� ���,���0���(�	�	�����,�	�����	�� ��#	�$���% �����
� �� *�	������� � �
��� �����	� *����
�� �	�  �	���	�� � ��
.
�����	�,�,����	���	����(�	�	��� �����,�	�����	�� ��
�	�$���� �����

,�� ��$������
�������<�	+�%�&���
�
�9���#�'���
���������
����� �����
��,#�()�#��*�� ��������+&�+,�����#�	+�
%����+���������%	$�&��
�=�#&��������
�������,#�()�#��*��'�������
'���	�!�.���������#���
�!����#!��F�����

���� ���� ,����� �	������������	
���+�������	�
���� ���)�
��&
�����	�
'��(����%�����������	��#	�$���% ����%��������������� ��
������ �	� *���� ��� ���*��,�	*)+� � �� *�	������� � �
���
����������)� ��,���� � �� ������� ��� � �� �	1��������� ����
��,��*���	�� ��� -�� � � �� &
�����	� '��(���� �	�� � ��
#	�$���% �����

/�� '�!''�!''�!''�!'����;����0000��!;����!;����!;����!;���������
'����
'����
'����
'�1111����
%������� �� /�'�
!����!�
��.�������*� 0G"�.����G"�;'1����
%���������� %�������� 0G"�;.����G"�<'1�
� � 0
+��&����2������!������8&����2�����1�
%�������� �� �����	��-		���� 0G"�<.����G"�='1�
� � 0��*�E���	��H	������������<���
�����
%�.��������������<�

�����	�I����!���
%�I������������1�
%�����3� �� �3+�
!I���� 0G"�=.����G"�./'1�

���� ���� /�� >����%;��8
��>���������
4���5�� 6� � ����7�1���,��	���
� � �	��4������)�� �&��.����&��;'��

4���5���� 6� 8�	�
����6� �&��;.����&��<'��

� � �9�	���6��2�&��:��	���� �6��2�&����

4���5����6� ;�	�����%�
�����6� �&��<.����&��='��

� � �&
�	������1��#,���
���6����&+������	�	��
#-����)�6����&+�;��<��:�#$���	�����6����&��

4���5�3�6� 9����%*��	*��� �&��=.����&��./'� 
 

 

>�����2�;�
�?0�2�8
��>������� 

�����)
	���
��2�=.' 

�#0�2�9 



�����������	
������������	
������������	
������������	
�������������	��
� 



� ������ ������

����	
���
�� � ���������

��������������������������������
� ��� �� 	�
 � ������ �����
�� ��� �� 	�
 � ������ �����
�� ��� �� 	�
 � ������ �����
�� ��� �� 	�
 � ������ �����
��������������������������� � !� 

�� � � � �� ���� � � � �� ���� � � � �� ���� � � � �� �� ���� � ��� �� �� �� ��� ��� � � �	 � �� � �� � �� �� �	 � �� �� ���� 
 � 
�� � ��� �
 � 
�� � ��� �
 � 
�� � ��� �
 � 
�� � ��� �� �	 � �� � � �� !�
���������	
���������	��
�����
��������
�������������
����	������	
�������
������
����


�� � 	 � �� 	 �� � 	 � � �  � "� ��# ��$ �% � �& 
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[1] ��� �1� 	 � ��# ��$ ���

[2] ��� 2 �� �� # ��$ � �

[3] ��� ��� # �� $� � �

[4] � �3��� � ��� #��$ � �

  

�� A type of intelligence test in which 

the difficulty level of questions 

gradually increases and the time 

factor is secondary : 

[1] Verbal Test  

[2] Power Test 

[3] Speed Test  

[4] Performance Test 

"�� � 	 � ��� ��$ �45 �6� �' � 70 8 -� �� �� � &
'� � �
�� �� � 9�� 0� � :0 ��� 
� �� �� �� � �� ; �� / �� 0 ��� � 	� � < �� =��

' 8 -% � �	 
# � �� 3�0 � 	 #� 5 ��# � 
 '>� 	 �� �
� � -� � � � �� �� � 	 � � �� �� � �� � �9� � �� 	 � �� 	 #�

# �� �� � 	 #� ��� �� �6�0 �� � �	 � �� �0�� �� 	 � �� � -. �� � �

[1]� � - 4
� � � � #� 5 �6� �' �

[2]� � �� ��� ��$ � �

[3]� 
 -	 � � #� 5 �6��' �

[4]� 5 � �� * �' �� 5 �6��'�

  
"�� A teaching-learning strategy in 

which small groups of students with 

different level of ability use a variety 

of learning activities to improve their 

understanding of a subject : 

[1] Multi-sensory learning 

[2] Team teaching 

[3] Co-operative learning 

[4] Programmed learning 

��� 
�� . � �� � 	 � � 70 �2 �? �� � �# �	 � $ �%� 70� 2� ?� �
5 �	 ���	 � � �	 
� ����'� 
� � 
� � � �6�� � -. � @ �
�

[1] ��# �� $ �� ��� �'�

[2] �� 	 �� � ����'�

[3] ' 8 �� �� � A �� � �� �� �'�

[4] ' �� � �� �� � 3�$ � �� �� �'�

  
��� Spranger's classification of 

personality is related to which 

approach of personality assessment ? 

[1] Trait Approach�

[2] Type Approach�

[3] Instinct Approach�

[4] Psychoanalytic Approach�
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/ 0� 	 � �� ��$ �� � -# �� -# �� -# �� -# � �-. � @�
�

[1] 	 � � �� �	 � �  �� 0� �' � � �� -���

[2] &# �� � '� � � 
� �  ���

[3] 5 ��# ��� '� �5 � �� � � �� � 
# '� 5 ��� � 	 �� C� ��
�

[4] 5 � �� � < �� � �� �� 5�� � � 
� �' 2 ��

  #�� Which of the following is not a 

symptom of good mental health of 

students ? 

[1] Living in fantasy world 

[2] Balance in life 

[3] Knowledge of our potentials and 

limitations 

[4] Free from undesirable worries 

$�� D&� � � 	 � �	 �� �� � � 5 ��� � '� �� 4� �� � � �� � * �� 6��
�� � ��� � � ' � � � 5 
' / �� � -�� � �� -. %� �� � � �-� 5 ��� �
* � � 6�� 5 �� � � < �� = � � � ��) � � �� � ��	 =� 	 � � �� � �� -. !E�
0 -� �	 
 � �� 	 �� � 	 #� � �� �?' 	 � 0  �2 � � 	 � � � 	�
� �� -� $ �� -. �@ �

[1] � '� � � �

[2] �� �� �' � �

[3] �� ��� �$ �� �

[4] � �
/ � ����

  
$�� 'When an adolescent is unable to 

show anger to his parents, then he 

shows his anger to his younger 

brother.' This is an example of which 

type of defence mechanism ? 

[1] Repression  

[2] Regression  

[3] Projection  

[4] Displacement 

%�� ��0 �&� � 	 � � 
� C ��� ?'	 � ��	 �
 � � 
" �� � � 	� �
5 � 
 �� %� D
� C �� �?' 	� 
�� �� �� 	 #� �-�
' 8� � �8 � � ) 	 � )�% � &� � � �	 
# � 
� C �� �?' 	 � 70� -�� �
	 � � �* 0 �9� 0� � '�� � '� � � 	 ��# � -. E%� 	 -�� �#�
-. �� �

[1] 
 -&� �� �A � � �0 �F � �

[2] ' 8 �� �� � A �� � 0�F�

[3] 
	 # '�� �

[4] 
 �� �� $� ����

  
%�� According to Piaget's Cognitive 

Development Theory, 'The basic unit 

of the cognitive structure that helps 

in the implementation of cognitive 

behaviour', is termed as : 

[1] Reflexes  

[2] Basic Instincts 

[3] Schema  

[4] Conservation 
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  &�� "Emotional Intelligence may be 

defined as the capacity to reason with 

emotion in four areas – to perceive 

emotion, to integrate it in thought, to 

understand it and to manage it."  

Who gave this definition of 

emotional intelligence ? 

[1] Daniel Goleman 

[2] Mayer and Peter Salovey 

[3] Peter and Michael 

[4] Halverson 
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[4] 5 � ��� 	 ��

  '�� Which one of the following is not a 

direct method for measurement of 

attitude ? 

[1] Interview  

[2]  Projection 

[3] Questionnaire  

[4]  Observation 
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  ��� 'A horse can be brought near water, 

but cannot be forced to drink.' This 

statement reveals the truth of 

Thorndike's which law of learning ? 

[1] Law of Readiness 

[2] Law of Exercise 

[3] Law of Effect 

[4] Law of Multi Responses 
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��� Which of the following is not a level 

of teaching ? 

[1] Basic Level 

[2] Memory Level 

[3] Understanding Level 

[4] Reflective Level 
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�� Which one of the following is not a 

part of Bronfenbrenner's Ecological 

System theory ? 

[1] Micro system   

[2]  Macro system 

[3] Minor system   

[4]  Meso system 
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"�� Which pair is not correct with reference 

to emotions and basic instincts ? 

 Emotion  Basic Instinct 

[1] Anger – Repulsion 

[2] Ownership – Collection 

[3] Wonder – Curiosity 

[4] Fear – Escape 
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��� Which way is the most appropriate 

for social development of 

adolescents ? 

[1] Discussion on socialization 

[2] Essay competition on social values 

[3] Organizing group activities 

[4] Documentary on social relations 
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[4] 
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#�� According to Maslow's Need 

Hierarchical theory, 'Esteem Needs' 

are which type of need ? 

[1] Personal  

[2] Social 

[3] Intellectual  

[4] Emotional 
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$�� Which of the following task is not 

related to Baqer Mehdi's test of 

Creativity ? 

[1] Unusual uses related task 

[2] New relation between pairs 

related task 

[3] Product improvement related 

task 

[4] Ask and guess related task 
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%�� Which of the following statement is 

not correct with reference to 

individual   differences ? 

[1] No two persons can be exactly 

alike. 

[2] Individual differences may 

belong to different areas. 

[3] Individual differences affects 

different dimensions of 

development. 

[4] Individual differences arises 

only due to heredity. 
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&�� Who is called the father of Trait 

Theory for study of personality ? 

[1] Allport  

[2] Woodworth 

[3] McDougall  

[4] Eysenck 
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'�� Which of the following pairs of 

communication skills is correct for 

receiving the information ? 

[1] Listening and Writing 

[2] Speaking and Reading 

[3] Listening and Reading�

[4] Speaking and Writing�
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��� According to Triarchic Theory, 

which of the following is not a type 

of intelligence ? 

[1] Analytical  

[2] Creative 

[3] Theoretical  

[4] Practical 
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  "��� According to Kohlberg's theory, 

what level of morality is it, when 

morality includes self-accepted 

moral principles ? 

[1] Pre-conventional  

[2] Conventional  

[3] Post-conventional 

[4] None of these 
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  "
�� Which of the following is not a general 

characteristic of adolescence period ? 

[1] It is a transitional period. 

[2] It is period of unrealism. 

[3] It is time for search of identity. 

[4] It is the threshold of puberty. 
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  ""�� Who developed the Thematic 

Apperception Test for personality 

assessment ? 

[1] Murray and Morgan 

[2] Bellack 

[3] Eysenck 

[4] Allport and Cattell 
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  "��� What type of reinforcement schedule is 

it, when reinforcement is provided to 

the learner only after a certain number 

of responses ? 

[1] Fixed ratio 

[2] Variable ratio 

[3] Fixed interval 

[4] Variable interval 
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  "#�� According to the moral development 

theory of Piaget, adolescence period 

is : 

[1] Stage of moral realism 

[2] Stage of morality constraint 

[3] Stage of heteronomous morality 

[4] Stage of autonomous morality 
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  "$�� Which of the following factors 

positively affects learning ? 

[1] Meaningless content 

[2] Lack of maturation 

[3] Lack of motivation 

[4] Informational feedback  
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  "%�� Rohit helps others to get praise. This 

is an example of : 

[1] Intrinsic Motivation 

[2] Extrinsic Motivation 

[3] Innate Motivation 

[4] None of these 
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[1] 80� [2] 90�
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  "&�� What will be the intelligence 

quotient of a 15 year old boy, when 

his mental age is 12 ? 

[1] 80 [2] 90 

[3] 100 [4] 110 
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  "'�� As a teacher which of the following 

work would not be done by you to 

develop the creativity of the students ? 

[1] Encouragement of originality 

[2] Removal of fear 

[3] Freedom to respond 

[4] Avoidance of divergent thinking 
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"��� Development which proceeds from 

'centre to the periphery', is known as : 

[1] Cephalic Caudal 

[2] Proximodistal 

[3] Spiral�

[4] Circular�
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  ���� Hunger and Thirst is which type of 

motive ? 

[1] Extrinsic [2]  Acquired 

[3] Intrinsic [4]  Social 
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[4] H'�;�
�#��!�G��

�#�� 9�2���!����.�+!��
�;'����%I���%I���%I���%I��.�4�
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[3] 
����6
�!���C������ � ����.&�

[4] ���������������'��3'���� ��
���.&�

�$�� ��!� ��?
� 2��� ��� !�� ��*��� ��!���K� ���
��'�����%����.�4�

[1] �*'���� [2] �	
���,��

[3] ��%�J��� [4] H'��*��
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[1] ������� +� �2�*�� '�

[2] !�#
��'� +� �D�%/���

[3] #�. ���� +� �L�%�

[4] ����J� +� "�%
�����
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[2] 
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[3] � ���
����
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[1] ���.'��

[2] �'�2�

[3] M��(�� �

[4] >�2��

!��� �
���2����
(��)�!���!����!����!����!�����
�$��#%������

[1] ��D'��� +� ��*�D'���

[2] �	2%��� +� ����2%���

[3] �$���� +� '=��=���

[4] �%D!�� +� �����!��

! �� 9�2��� !�� ��!� ��?
� 2��� 8��
):� ��D''� ���
��'����������������������%����.�4�

[1] �% ���)� [2] !��
)�

[3] "%��
)� [4] � �
)�

!��� �N#� ,�����
(��)�!��8�:�
,�������N#� ,��
5=������������

[1] ����J�

[2] 2C*����

[3] ���%�

[4] 
	��

!!�� 8���%:���?
�!�����2����
�����,���.���

[1] �����
��

[2] ���%����

[3] ���%���

[4] ���%D
�

!"�� 8�D!2+�
E��
:����
(��)�!���!����!����!����!���� �
�$��
#%������

[1] ���2���� +� ���201��

[2]  O�%� +�  5!��

[3] �����,�� +� �D=� �

[4] 25��� +� 2�=���
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���� Which of the following options 

express the correct meaning of the 

sentence given below ? 

He is too cute to overlook. 

[1] He is too cute and he can be 

overlooked.  

[2] He is too cute but he can be 

overlooked.  

[3] He is so cute that he cannot be 

overlooked.  

[4] Although he is not cute, but he 

cannot be overlooked. �

���� Change the narration : 

Kavin said to Mr. Cowper, "Please, 

be kind to me." 

[1] Kavin requested Mr. Cowper to 

be kind to him. 

[2] Kavin requested Mr. Cowper to 

be kind to me. 

[3] Kavin asked Mr. Cowper to be 

please kind to me. 

[4] Kavin asked Mr. Cowper that he 

must be kind to him.�

���� Fill in the blank with the correct 

form of verb : 

You had better …………. your 

hands before you eat. 

[1] been washing 

[2] washing 

[3] washed  

[4] wash�

�
�� The word 'garrulous' means : 

[1] talkative [2] abusive 

[3] violent [4] abundant�

���� Arrange the following jumbled 

options in the correct order and then 

choose the correct option : 

(i) too many (ii) spoil 

(iii) the broth (iv) cooks 

[1] (i), (iv), (iii), (ii)  

[2] (i), (iv), (ii), (iii)  

[3] (iii), (iv), (ii), (i)  

[4] (iv), (ii), (i), (iii) �

���� Fill in the blank with the correct 

option : 

Let us stay here, while it ……….. . 

[1] is raining 

[2] was raining 

[3] has been raining 

[4] had been raining�

� �� Choose the part of the sentence that 

is grammatically incorrect : 

The thief took towards/his heels/on 

seeing/the Police-van arrive. 

[1] The thief took towards 

[2] his heels 

[3] on seeing 

[4] the Police-van arrive.�
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���� Choose the part of the sentence that 

is grammatically incorrect : 

He has committed / a blunder / 

mistake / today morning. 

[1] He has committed 

[2] a blunder 

[3] mistake 

[4] today morning.�

���� Fill in the blank with the correct 

form of verb : 

Neither you nor she ……....... made 

the mistake. 

[1] have [2] has 

[3] had [4] did�

���� Fill in the blank with correct 'Modal 

Auxiliary' : 

Passengers ………… not walk 

across the railway line. 

(Prohibition) 

[1] should [2] can 

[3] need [4] must�

���� Choose the correct passive of the 

given sentence : 

 Did he kill a lion ? 

[1] Did a lion killed by him ?  

[2] Was a lion killed by you ?  

[3] Was a lion killed by him ?  

[4] Had a lion been killed by you ?�

���� Fill in the blank with the correct 

option : 

Mr. Sudhir Soni is ……….. R. A. S. 

Officer. 

[1] an [2] a 

[3] the [4] ×�

���� Fill in the blank with the correct 

option that completes the idiom : 

A rolling stone ………. . 

[1] carries rough winds 

[2] kills no one 

[3] gathers no sauce 

[4] gathers no moss�

�
�� Fill in the blank with the correct 

option : 

When Monisha reached the bus 

stand, the bus ……….. . 

[1] was already left 

[2] had already left 

[3] already left 

[4] has been already left�

���� Which of the following sentences is 

the correct option to express present 

perfect continuous tense ? 

[1] Mr. Mehta has been waking for 

2 O'clock in the morning. 

[2] Mr. Mehta has been waking 

since 2 O'clock in the morning. 

[3] Mr. Mehta has been waked since 

2 O'clock in the morning. 

[4] Mr. Mehta has been waking 

from 2 O'clock in the morning.�
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'��� �+��������������X������Y ��������������,�
�+�%���-��%.��)/0�01*�����Y��-�!%2�3��
X�������-��	��%�!45�%0-�0��������Y�����)/0�
��������������01�6�

[1] #$�%  

[2] ����7� 

[3] !+��  

[4] !��'��

  
'��� X and Y are facing each other at 

sunrise. The shadow of Y is falling 

towards right of X, then Y is facing 

in which direction ? 

[1] North  

[2] South 

[3] East  

[4] West 

'(�� �������� ���-� ����'�� �+%-����� 
��%���-�
����������3�8��9�������:&�����!�-�4.5 8��9������
����%�-�01*����� 
��%���-�'���3� ���-�
!"��� 8��9�� 01�� ���� ������ :�� ���� ���� �-�
'���01���

[1] 10 ���- !"�� 8��9���

[2] 12 ���- !"�� 8��9��

[3] 13 ���- !"�� 8��9���

[4] 15 ���- !"�� 8��9��

  
'(�� A boat covers a certain distance 

downstream in 3 hours, while it 

comes back in 4.5 hours. If the speed 

of the stream be 3 kmph, then the 

speed of the boat in still water is :�

[1] 10 kmph  

[2] 12 kmph�

[3] 13 kmph  

[4] 15 kmph 

'��� 10.5 ���-� ��;��� ��� ��� 
���)� ��� ������
�!8����%�� 3.5� ���-� ��;��� ����� 3� ���-�
</'�3�� ������3��2��9�� ����)	���� ����=��� �����
:����01*����)��%��3��!"��%�&�������)��-�
�� �������-�0���-�6�

[1] 112 [2] 126 

[3] 132 [4] 138�

  
'��� A metallic sphere of radius 10.5 cm 

is melted and then recast into small 

cones each of radius 3.5 cm and 

height 3 cm, then the number of 

cones thus formed is : 

[1] 112 [2] 126 

[3] 132 [4] 138 
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')�� �������3��
��%��������>����'?�@�A�B��:����
	�
��%� !%� 3� �>������ ��� '?�@�A� B��:�

:��45�%�
8

3
3 ��)��� 0��� :���� ���� B��:� �-�

���>�����%�01���

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50 �

  
')�� If the amount is 

8

3
3 times the sum 

after 3 years at compound interest 

compounded annually, then the rate 

of interest per annum is : 

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50  

'��� 1865 ����������������660�	���":-�&���������

0�1�	�1%�1305 ��0��-�&���������01���!%��)�

120 C��D�������������������3�� ��-����>����0-��

&���������01������� ������������������� ���>���/�

&���������0�1�6 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085�

  
'��� Out of 1865 people, 660 can speak 

English and 1305 can speak Hindi, 

but 120 persons cannot speak either 

language, then how many persons 

can speak both languages ? 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085 

''�� '�����-��-�������20%��-���-�0���:����

!%� ��� �"�0�� 800� E!��� ���� 12.5� ���"��

'���� ;�����  �%-������� 01�� ���� '�����-�

�+���-���!"������"������-�01�6 

[1] 12 E!��  

[2] 14 E!���

[3] 15 E!��  

[4] 16 E!���

  
''�� A reduction of 20% in the price of rice 

enables a customer to purchase 12.5 kg 

more for Rs. 800. The original  price of 

rice per kg is : 

[1] Rs. 12  

[2] Rs. 14�

[3] Rs. 15  

[4] Rs. 16 
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'*�� �����:�� ��� ��� ����.�� ���� �����:���
����.�� ��� 12� �)��� ����� ���>�.�� ��� 5�
�)���01*�����#��������>�.��36 0�����������;��
01����

[1] 2726 [2] 2736�

[3] 2796 [4] 2826�

  
'*�� In a division sum, the divisor is 12 

times the quotient and 5 times the 

remainder. If the remainder is 36, 

then the dividend is :�

[1] 2726 [2] 2736�

[3] 2796 [4] 2826 

'+�� �����F�7�-����	����!�������-�:����
�

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �

[2] T2670N�

[3] N2676S� �

[4] M2670S�

  
'+�� Find the next term of the following 

series : 

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �

[2] T2670N�

[3] N2676S� �

[4] M2670S 

'��� ���-� �� ��� ���� 5, 9, 13� ��� ������:��
�%���!%�?�����2, 6������10����>��&'���
01*����-��&���2��9-��� ���01���

[1] 602 [2] 592�

[3] 572 [4] 582�

  
'��� A number when divided by 5, 9, 13 

leaves remainder 2, 6 and 10 

respectively. The least such number is : 

[1] 602 [2] 592�

[3] 572 [4] 582 

*��� ��� ����'�� �+9� ���>��� ���� "PARTICLE"�
����"USBQFMDJ"������"GENERATE"�
����"FOFHFUBS"��� ���:����01������3�-�
������+9� ���>��� ����� "DOCUMENT"�����
�� ���:��������
�

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF�

  *��� In a certain code language 

"PARTICLE" is written as 

"USBQFMDJ" and "GENERATE" 

is written as "FOFHFUBS", then in 

same code language "DOCUMENT" 

will be written as : 

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF 
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*��� �-��������P, Q ���� R G�%�����9�1��5�8��9��

���� ��%���01*����R, Q�����)�)�-��������

�����Q, P�����)�)�-��������'����01�������

	��������P�G�%��91���������%�������������

����������6�

[1] 22 8��9�� [2] 25 8��9� 

[3] 30 8��9�� [4] 35 8��9� 

  
*��� A tank is filled in 5 hours by three 

pipes P, Q and R. The pipe R is 

twice as fast as Q and Q is twice as 

fast as P. How much time will pipe P 

alone take to fill the tank ? 

[1] 22 hrs [2] 25 hrs 

[3] 30 hrs� [4] 35 hrs 

*(�� ����
13

13

−

+
=x ����� ,

13

13

+

−
=y ����

( )22
yx + ��������01���

[1] 14  [2]  12    

[3]  13 [4]  16�

  
*(�� If 

13

13

−

+
=x and ,

13

13

+

−
=y  then the 

value of ( )22
yx +  is : 

[1] 14      [2] 12   

[3] 13 [4]  16 

*��� �45��������-����!��D������A�&��-��	��%����

10����H�����!%������B����-��	��%����14����

H�����!%�01���������	!�-��H������/�!%H!%�

&��� ���-� 01��� ��� A &��-�� 	��%� ��� 24����

H�����!%�0���:��-�01��!��D������45��������-�

�� �������-�01�6�

[1] 31 [2] 33 

[3] 37 [4] 39 

  
*��� In a row of girls, A is 10th from the 

left and B is 14th from the right. If 

they interchange their positions, A 

becomes 24th from the left. How 

many girls are there in a row ? 

 

[1] 31 [2] 33 

[3] 37 [4] 39 

*)�� ����)�����%�����H�)�����15%������!%�
&�'���01��	�%�#����#���18 E!�� 	�
���
���� &�'�� 0������ ���� #���� ����� 18%� 0���
:���*�#���H�)����?���+(��IEJ����K�01���

[1] 360  

[2] 540 

[3] 600  

[4] 640�

  
*)�� A shopkeeper sells an article at 15% 

gain. Had  he sold it for Rs. 18 more, 

he would have gained 18%. The cost 

price (in Rs.) of the article is : 

[1] 360  

[2] 540 

[3] 600  

[4] 640 
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*��� ����H&���-�:��� ���9000�01������!)E>�����

�-�:��� ����@�A��%�5%�	�1%���0��	����

�-� �@�A� �%� 8%� 0��� ���� ��� �>��� ����

:��� ��� 9600� 0���� ���� !)E>����� �-� �� ����

01���

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600�

  
*��� The population of a town is 9000. If 

the males increase by 5% and 

females by 8%, the population would 

be 9600 in a year. The number of 

males is : 

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600 

*'�� D, C �����E������&��01��A, E����	�
���

��&���0-��01��C, A������&��01��D, B����

	�
��� ��&�� �0-�� 01�� ���� 3����� ��� ��1��

�&�����&��01�6�

[1]� A�� �

[2]� B�

[3]� C� �

[4]� D�

  
*'�� D is taller than C and E. A is not as 

tall as E. C is taller than A. D is not as 

tall as B. Who is the tallest among 

them ? 

[1] A  

[2] B 

[3] C  

[4] D 

**�� ��� �45�-� ��� .��9���"�.� �-� 	��%� 3�����

�%���0)��X�����0�����LL�0���%�������:-�

��� 3���1��� !)�� �-� �45�-� 01MM�� ���� �45�-�

���X��������!"��%���&�
��01�6�

[1]� �!��� �

[2]� ���3��

[3]� &0�� �

[4]� �����

  
**�� Pointing to a girl in photograph, X 

said "She is the daughter of my 

grandfather's only son". How is the 

girl related to X  ? 

[1] Father  

[2] Brother 

[3] Sister  

[4] Mother 
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*+�� �����>!�3�:�����-�%����45-�!+������!��'��

�-�	��%�:��%0-�01������#$�%��������7���-�

	��%�0���'��%0-�01������#����
�)	�/�����

����������:�����6�

[1]� #J - !J  

[2]� #J - !+J 

[3]� �J - !+J  

[4]� �J - !J�

  *+�� A steam engine train runs from east to 

west and wind is blowing from north to 

south, then the smoke from the train 

would blow in which direction ? �

[1]� N - W  

[2]� N - E 

[3]� S - E  

[4]� S - W 

*��� ������� ���F�7�-����	����!��01���

�

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� �

[2] 211�

[3] 227�� �

[4] 232�

  
*��� The next term of the following 

number series is : 

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� �

[2] 211�

[3] 227�� �

[4] 232 

+��� 9 ?������ ��	�������	�1���n 01������#�����

���� 	��-� �� ��	���� ���� ������� �%� �����

:������������	�1���������0���:������6�

�

[1] �0-������%0�����

[2] 1 �-��@�A�0���-�

[3] 1.5 ��-��@�A�0���-� �

[4] 2��-��@�A�0���-�

  
+��� The average of nine consecutive 

numbers is n. If the next two 

numbers are also included, the new 

average is : 

[1] remain the same 

[2] increase by 1�

[3] increase by 1.5 

[4] increase by 2 
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+��� 0�%��7��� ��� ���� H�������� ���� �+��H���� �-�

%���%����
������0��%���%�H�������N!�

����	�
��+�'�����������01�6�

[1] �)(���!)%�%�>9O-��#P���	�1%�����4�����

���:-��	����%7��

[2] ����%� %�>9O-�� #P��� 	�1%�  �!%����

���:-��	����%7� 

[3] ��0%� ���:-�� 	����%7�� 	�1%� &-%�

�����%�=5����:-��	����%7��

[4] 	&+��0%� ���:-�� 	����%7�� 	�1%�

 ����,0-,%1�������:-��	����%7��

  
+��� Which places of Haryana have been 

notified as Ramsar site under 

Ramsar convention of UNESCO ?�

[1] Sultanpur National Park & 

Bhindawas Wildlife Sanctuary�

[2] Kalesar National Park & 

Khaparwas Wildlife Sanctuary 

[3] Nahar Wildlife Sanctuary & Bir 

Shikargarh Wildlife Sanctuary�

[4] Abushahar Wildlife Sanctuary & 

Khol-Hi-Raitan Wildlife Sanctuary�

+(�� ������������������!%���'�%��-�:����

(i) 0�%��7��� ���� ������)Q�� ��H���� �-�
H���!����>���2002 �����-��3����-*�
�

(ii) �����+����R-���!���0�%��7���%�;�����
!0���������)Q�����*�
 

[1] �����(i) �0-�01*�

[2] �����(ii) �0-�01* 

[3] (i) ����(ii) ������� �0-�01�*�

[4] (i) ����(ii) ������� ����01�* 

  +(�� Consider the following statements :�

(i) The institution of Lokayukta was 

established in Haryana in the 

year 2002.�

(ii) Justice Pritam Pal was the first 

Lokayukta in the State of 

Haryana. 

[1] Only (i) is correct.�

[2] Only�(ii) is correct. 

[3] Both (i) and�(ii) are correct.�

[4] Both  (i) and�(ii) are incorrect.�

+��� 0�%��7������������0%�����L��9-�	�S.���%�
0-%��:M����N!�����:����:����01�6�

[1] �)E�"��� [2] ����-!��

[3] !��-!�� [4] ������-�

  
+��� Which of the city of Haryana is 

known as the 'City of War Heroes' ?�

[1] Gurugram� [2] Sonipat�

[3] Panipat� [4] Bhiwani�



������ ��((���

��	�
��
���� � �

+)�� 0�%��7��� ��� ������� ��� H��%����� ���� ����
���0��� %�;�� ��%����� H��%�� ��� �:��� !"�T����
01�6�

(i) ��� ���1�&������&%��

(ii) �����������%�����&�

(iii) ��-�����-�����%���S�T��Q� 

�0-�0-�0-�0-������+9����'����-�:����

[1] (i) 	�1%�(ii)  

[2] (ii) 	�1%�(iii) 

[3] (i) 	�1%�(iii)  

[4] (i), (ii) 	�1%�(iii)�

  +)�� Which of the following monuments 

of Haryana have the status of State 

protected monuments ?�

(i) Sheikh Tayyab's Tomb�

(ii) Shobha Sagar Pond�

(iii) Bhimadevi Temple Complex 

Choose the correct code :�

[1] (i) and�(ii)  

[2] (ii) and�(iii) 

[3] (i) and�(iii)  

[4] (i), (ii) and (iii)�

+��� 0�%��7��� ��� 	�1P������ �������� ���� 	�
��%��+��
�)��
��	��������������%�������������������
�����1�-�-���H�����:�����%�01�6�
�

[1] 0�%9O���� �

[2] 0)4��

[3] �'��	�3�	�3�4-�-�

[4] �:���#P�������U�

  
+��� Which of the following institute is 

responsible for the development of 

infrastructure facilities in industrial 

areas of Haryana ?�

[1] HARTRON� �

[2] HUDA�

[3] HSIIDC�

[4] District Industries Centre�

+'�� ������� ��� ���� ��� ��1�� 0�%��7��� ���
%�;�!������G�%�����)Q���0-��0-��0-��0-���0�����01�6�
�

[1] 0�%��7�������) �����-�

[2] !�:�&�����0�%��7���#V'������������
�����
�-���

[3] 0�%��7��� ����� ����� 	������ �����
��H��

[4] 0�%��7���������
���%�	�����������H��

  
+'�� Who among the following is not 

appointed by the Governor of 

Haryana ?�

[1] Chief Minister of Haryana�

[2] A Judge of Punjab and Haryana 

High Court�

[3] A member of Haryana Public 

Service Commission�
[4] A member of Haryana Human 

Rights Commission�



� ��(���� ������

��	�
��
���� � ���������

+*�� 0�%��7��� ��� ������� ��� %�;�!������ ���� ���

��1�������1�%���0�����6�

[1] �):5W.%�0)�1��&�-��

[2] :��) ������0���- 

[3] 
�����������4��

[4] &�&+�!%������

  +*�� Who among the following Governors 

of Haryana was a civil servant ? 

[1] Muzaffar Hussain Burney�

[2] Jaisukh Lal Hathi 

[3] Dhanik Lal Mandal�

[4] Babu Parmanand�

++�� L!�%��%� !0'��� !�� ���:��M� ��� &�%�� ����
������� ���������������!�=5����

(i) �0� ���:��� !�%��%� ���� ��� 3��3�� ���
N!� ���� �'�0X��� �%�-� 01� 	�1%� �0�
0�%��7��� ��� ��H�� !�%��%���� ��� ���
������-�� �����:�,	������� 4�9�&���
�1��%��%�%0-�01*�

(ii) !"
����!�%��%��������	�Y�	�������-�
�����7�� !�%��%� !0'��� 	���79�� �-�
:�� %0-� 01� 	�1%� !0'��� (ID)� ����
:���� �@
�)� ���� �1���0�� �%��S4�X�� ���
:��45��:����*�

(iii) !�%��%� !0'��� 4�9�&��� ���� #!�B
�� 4�9��
���#!��������������(��7���%-����:��	����
���� H���� '��� 0��)� ����� :����� 	�1%�
!�%��%���� ���� H���� ���:��	���� ��� ����
	�������%����-�	���������0-��0���-*�

�0-�0-�0-�0-���+9����'����-�:����

[1] �����(ii)��0-�01*�

[2] (i)�	�1%�(ii)��0-�01�* 

[3] (ii)�	�1%�(iii)��0-�01�*�

[4] (i), (ii)�	�1%�(iii)��0-�01�*�

  
++�� Read the following statements about 

'Parivar Pehchan Patra Yojna' : 

(i) This scheme identifies family as 

a unit and is creating a reliable 

socio-economic database of all 

the families in Haryana. 

 

(ii) An eight digit unique family ID is 

being issued for every family and 

the ID will be linked to birth, 

death and marriage records. 

(iii) The data available in family ID 

database will be utilized to 

determine automatic verification 

for various welfare schemes and 

families will not be required to 

apply themselves for benefits. 

Choose the correct code : 

[1] Only (ii) is correct.�

[2] (i) and (ii) are correct. 

[3] (ii) and (iii) are correct.�

[4] (i), (ii) and (iii) are correct.�



������ ��()���

��	�
��
���� � �

+��� 0�%��7��� ��� %�;�!��� ��� ��&�
�� ����

������� �����������!%���'�%��-�:��� 

(i) �0� 0�%��7��� ���U-�� ������P���� ���

�)���
�!���01�*�

(ii) �0�%�;��������-���-���������!������


��%7���%������01�*�

(iii) �0� 3�74��� %�4� ?�S�� �����39-��

0�%��7���%�;����� ������	
����01�*�

�

(iv) #�0��� ����
���� ��� 	������ ���3��

H������-�����Q��R�T���0-��01*�

 

#!�)�Q�����������1�-��/���������0-�0-�0-�0-��01/01��6�
�

[1] (i), (ii), (iii) 	�1%�(iv) 

[2] (ii), (iii) 	�1%�(iv)�

[3] �����(iii)  

[4] (ii) 	�1% (iii) ��������

  
+��� Consider the following statements 

regarding the Governor of Haryana : 

(i) He is the Chancellor of Central 

University of Haryana.�

(ii) He can hold any office of the 

profit in the State.�

(iii) He is the President of Indian Red 

Cross Society, Haryana State 

Branch.�

(iv) He does not have any 

discretionary power granted 

under the Constitution. 

Which of the above statement(s) 

is/are correct ? 

[1] (i), (ii), (iii) and�(iv) 

[2] (ii), (iii) and�(iv)�

[3] Only (iii)  

[4] Both (ii) and (iii) �

���� 0�%��7�����������������	�1%�%�;��������-�

�-9���0�1���

[1] 7 	�1%�4  

[2] 10 	�1%�4 

[3] 10 	�1%�5  

[4] 12 	�1%�5�

  
���� The Lok Sabha and Rajya Sabha 

seats in Haryana are :�

[1] 7 and�4  

[2] 10 and�4 

[3] 10 and�5  

[4] 12 and�5�
ssssss  
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���� �� �" #$ �� �� #� � � �� ��� � � � �� % � � � � � & �� ' �� � "( ��
� � � ) �" � �
 �*� � "� �� ) �+ � � �� "� �,� � )� �- � 
��
�� � � �� "� � � %� � �� �
 � �� � �� �+ � ��

[1] �� �� %� ��

[2] .� %� � ���% �� � �"( � �

[3] �� �" #$ �� %  �� �/ �� �

[4] 
 � �0 �%  �� �� � 1���

  
���� A small group of rural poor people 

contributing to a common fund and 

to socioeconomic development is : 

[1] Panchayat 

[2] Self Help Groups 

[3] Rural Youth Clubs 

[4] Nehru Yuva Kendra 

���� � � �
 
 � ' + '2 � /� �� � �3 4 � � 
�1�� � � � � �% �� �� "� � �
�� %� �, �� �� �+ � ��

[1] �� #� ��'� 
� � �� � �

[2] *� 5�� � � ��� � *���  )� �� � � �� � ��6 �� �
 � �"� � ��

[3] � � 47 # �� �� � � �� �� �'� 
� � "� ��

[4] � � 47 # �� #� ���� � �� � ��8 �� ��� � � 
� � "� ��

  
���� Carbon tetrachloride is used for : 

 

[1] Remove grease 

[2] Clean tarnished metals 

[3] Remove saw dust 

[4] Polish wooden surfaces 

���� ………….. � � � ) 
  � �� 9� �� �� �� � � � " �8 4 ��
" � � � � #
 � :� '� � ��� � � � �+ �9� ��� �+ � 9 � .�#� �-� � �;� $�-
) �8 � 4% 1�� < ,
 �� =!�
�

[1] ) � .� ( �

[2] �� + 
�8 
 >�# �� �

[3] � � ��� �

[4] � #�1��

  
���� According to ………….., the model 

of communication has three 

ingredients namely, Speaker-Speech-

Audience.�

[1] Aristotle 

[2] Shannon-Weaver 

[3] Berlo 

[4] Leagans�



����� ���!���

��	�
��
���� � �

�"�� � ��� ��� ��� �� � �� - �
 �� �� �% 
�� # �,� � ��

[1] ' "
 � �# "�� � �� � ) .- �� %# � � #" �� � �� 0�� "�� �

� � #� ,�
 �� ,�� �� �+ !�

[2] .' � 2 '� < �# *��= � ,# �
 � � #" �� �( � � � , #� 
� �� �

� �� �� #" �� �+ !�

[3] � � 4� 8 �" �� '� ,# �
� � #" �� �� � ���� � #� � � ?�� �

�� � �
� 
 �# � �� �� �� �+ !�

[4] � #�" �� � � ��� 
� �# "� � % �� ,
 �� "� � � �� #�" %"�

� � � � �  �� �
 � �� � � 
�� 
 ;' � � ��% �� � � � � ;���@ �

� � � � ��� �� %� �, �� �� �+ !�

  
�"�� Choose the incorrect statement : 

[1] Term insurance is also known as 

temporary insurance. 

[2] Straight life insurance is an 

insurance for whole life. 

[3] Endowment life insurance does 

not offer family protection. 

[4] In the limited payment insurance 

scheme, the premium is paid for 

a specified number of years. 

���� � � � � .A � "� � � ………….. �+ ' 

 � " � � � �� �#�

� - ��� � �� & #� � �� 
 �� � � � � �� �) �� �� � �� �� %� � �� � � % ��

,� �� ��+ !�

[1] � � �� � �
 � < '( ' #=� � � �� ��

[2] � �� & # �� � � �� �

[3] : � "� �� �� � � � �� ��

[4] ) � 47 #� � � � ���

  
���� Both vertical and diagonal lines are 

used in a ………….. pattern in a 

fabric. 

[1] Broken line 

[2] Diagonal line 

[3] Curved line 

[4] Horizontal line 

�!�� � � �%� ��" �� #� �,�" � � � �� �� �� � ��� �� � ,�� �� �+ � � ) �+ ��

� ��
 � � � � � �� � � �" 
� � � �$ � �B� � � #� � � �� � �� .� � �

�� �� ,� �� � �+ � 9�� ���+ � ��

[1] �  �� �' 
 �� �� 4
� �

[2] ��� .' � �

[3] � �' 
 � �

[4] C �+ �� �� � 4
�

  
�!�� Visual aids in which the messages 

are written and presented step by 

step to the audience is : 

[1] Bulletin Board  

[2] Poster 

[3] Chart  

[4] Flash Cards 



 ���#��� ������

��	�
��
���� � ���������

�#�� �� �#� � � %
 � � �� � � � 
� � � �� �� $ �� B � �$ �
 
�

� ��� �� ��+ � ��

[1] ) � 8 �� � ��
 �� �' 
 �

[2] �� �� � � �� ��' 
�

[3] ��- � �� � �� '
�

[4] � � �#� �� � � ����� � �+ � �

  
�#�� ………….. is a step by step 

description of doing a task. 

[1] Operation chart 

[2] Process chart 

[3] Pathway chart 

[4] All options are wrong 

�$�� �
 $ �
 % �� � 
� � � #� �� �D % �� �� � �
 �1�� �� $ �� �+ � ���

 

(i) � � � �� � � ��� � � �%
�

(ii) � ".% �� � �� � ��� � ��� ;�� � � � 
��

(iii) % �� ,
 �� � �� �) " �� "� � � ��
��

(iv) � �� � �� � #� ��� �
 �� � 
 ��

� �#� �#� �#� �# � � ) 
 D "� � �
 %� � ��

[1] (iv), (ii), (i), (iii) 

[2] (iii), (ii), (i), (iv) 

[3] (ii), (iv), (i), (iii)�

[4] (i), (ii), (iii), (iv)�

  
�$�� The steps in the process of decision 

making are : 

(i) Selecting an alternative 

(ii) Defining the problem 

(iii) Putting the plan in action 

(iv) Identify the alternatives 

Choose the correct sequence : 

[1] (iv), (ii), (i), (iii) 

[2] (iii), (ii), (i), (iv) 

[3] (ii), (iv), (i), (iii)�

[4] (i), (ii), (iii), (iv)�



����� ���$���

��	�
��
���� � �

���� � �;' 2 #% � �� �" #$ � � � �� , �� �� �� � � '# � ) � *��
 %"�

< 
 �� ��= 9� �� E %� � � �� �" #$�� � %.� � � �� �

………….. �� 
� � � � � # � �� ��� � ;� 
 � " ,� ( �# � � #�

��� � '# � �� � �� �+ ! �

[1] 50  

[2] 100�

[3] 150  

[4] 200�

  
���� The National Rural Employment 

Guarantee Act (NREGA) guarantees 

………….. days per year of wage 

employment to every rural adult.  

[1] 50  

[2] 100�

[3] 150  

[4] 200�

����� ………….. "� � '# � �� �� , "� � ��� 
 � � � � � ���� �

� � F #, �� ' � � � �� � 4#F �8 .' � �� 
� � �� ��� ��� � �

�+ !�

[1] 9 � "" #� �

[2] 2 � "" #�

[3] 6 � "" #� �

[4] 12 �" "#�

  
����� Defrosting in a refrigerator should be 

advisable before the deposit is 

………….. thick. 

[1] 9 mm  

[2] 2 mm 

[3] 6 mm  

[4] 12 mm 

����� � �� ��� �� � � � , �" � � � ���#� �E 
# � < � ,�� � � � G�� �

�+ � =� � # � " � E%  � � � � ���� �9� ���� � 
 �� 
 � ��� � � �

�� � �� �+ 9� � �� �� �� �+ � ��

[1] 1% ( �/ �% � ���� � �� �

[2] � � �� �14 � �� �� �� �

[3] .' � "� ��� �� � �

[4] , �8 3 � '� ��� �� � �

  
����� The family in which the husband 

marries again after the death of his 

wife (who had children), is known as : 

[1] Nuclear family 

[2] Compound family 

[3] Stem family 

[4] Joint family�
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��	�
��
���� � ���������

����� �
 �
 � "( � % � "
 ;% � � � � ) ��� $ �� � � � � �
 %� �A� �
� � � � ��+ � � ��

(i) � �� �5*� %� H �

(ii) � ?�� � �

(iii) �� �� #�� � � .� �.- % �

(iv) " �
 ��� � .� �.- % �

� �#� �#� �#� �# � � �� �� ���  �
� � ��

[1] (i), (ii), (iii) � - ���(iv) 

[2] (i) �- � ��(ii) 

[3] (iii) � - �� �(iv) 

[4] (i), (iii) � - ���(iv) 

  
����� The values, which govern a man's 

conduct are : 

(i) Achievements 

(ii) Efficiency�

(iii) Physical Health 

(iv) Mental Health 

Choose the correct option : �

[1] (i), (ii), (iii) and�(iv) 

[2] (i) and�(ii) 

[3] (iii) and�(iv) 

[4] (i), (iii) and�(iv)�

����� ) �8 � 'I7 " �� 
�
 �� �� �� �� ?�$ ��� ��� � �� ���J
� � �+ � ��
�

(i) � �"� �,� �� � �� 
 � "� � ��� � �# ���" #!�
�

(ii) � ( �� �� � � � � � ��- �� �� �� �� " �� ��� � �# �� � " #!�
�

(iii) � � �� � � ��% �� < ��5 �� 
 � � $ �=��# � �� � ��� 
 �!�

(iv) .� %� � � � � ���� 
� �� H � �
� � � ���� K%� ��� ! �

� �#� �#� �#� �# � � �� �� ���  �
� � ��

[1] (i), (ii), (iii) � - �� (iv)�

[2] (i), (ii) �- � � (iv)�

[3] (i)�� - �� (iv)�

[4] (i) �- � � (ii)�

  
����� Autism is marked by the following 

symptom : 

(i) Severe impairment in social 

interaction. 

(ii) Severe impairment in 

communication with others. 

(iii) Echolalia may be present. 

(iv) Self injurious behaviour. 

Choose the correct option : 

[1] (i), (ii), (iii) and (iv)�

[2] (i), (ii) and (iv)�

[3] (i) and (iv)�

[4] (i) and (ii)�
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��"�� ' � �� � �� � '� �� .' �3 �� �, �"� � � �� E %� � � K% �/ �� �� �

�� �� D � 8 � �#9� � '� � #9� L�� �� � #� K%� .- �� � � #�

,� �# ��+ 9� � �� �+ �� �

[1] ���� "#� .' �3 �� %� �' � � �� �� � 
 ��

[2] � � �� �# %� ��+ �# �

[3] �  6 � � ��+ �#�

[4] � � �#� �� � � ����� � �+ � �

  
��"�� The table setting style in which 

crockery, cutlery, glasses are arranged 

for each individual is known as : 

[1] Western style or Table service 

[2] Indian style 

[3] Buffet style 

[4] All options are wrong 

����� � G � �� '� H� � � � � � ,+ �� � �� �� 
� � ��� � " ,�( ��

' �H � � ���� � �� �+ ���

[1] � � �%� �  ��
 �

[2] ) � � �%� �  � �
 �

[3] � + � �.' ��

[4] 3 � ' �� �8 �� � ��

  
����� A stitch similar to but stronger than 

running stitch is : 

[1] Visible hemming 

[2] Invisible hemming 

[3] Backstitch 

[4] Interlocking 

��!�� �
 �
 � �M "# � N � �� � 4 �% � #� ��� ��� � �� ) � 
� ��

" �8 4� �.- � �� �� �� � % �� �% �� - �� �� �

�

[1] �� �� 6 � � � �" �� ��"� � % 
  ��N � ���

[2] � + "� ��A� � �� �N �� ��

[3] 4 �8 O �� �# 
 �� � �� % 
� N � ���

[4] � � �#� �� � � ����� � �+ � �

  
��!�� The Anand Model of dairy 

development was set up by 

Entrepreneur : 

[1] Professor Mohammed Yunus 

[2] Sam Pitroda 

[3] Dr. Verghese Kurien 

[4] All options are wrong 
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��#�� ) �+ ��� �� � � �� $ � ��# � " � � � �� ��" �� 
�#� � ��� 
 � � � �� #�

< % �� 3 �� �� � ��� =� K% �� .- �� � ��+ �?� � � ��

��� �� �*�� � �� � ………….. �� $ �� �#� � ���

,� �� ��+ !�

[1] �� �+ P 7 �� ��?�� �

[2] �� �+ P 7 �� �� �� ��?� ��

[3] ) 
 �+ ���� � � �� ��?� ��

[4] � �� �� ��?�� �

  
��#�� The system of education that is 

organized, systematic, educational 

activity outside the formal system is 

called : 

[1] Adult education 

[2] Adult continuing education 

[3] Non formal education 

[4] Continuing education 

��$�� Q" �� ��
 � ��/� �R �� 
�1 ��� �� �� � �� $ �� �+ �� �

[1] SK %� �� "�� #�

[2] �� �� , �/ ' � 4� � � �% � ��" �� # �

[3] �� �� , �/ ' � 4� � � �% � SK% �� �"�� #�

[4] 
 �8 
 ��� �� ,� /' � 4� � � �%� SK% �� �" �� #�

  
��$�� 'Motion picture' is an example of : 

[1] Audio Aid 

[2] Projected Visual Aid 

[3] Projected Audio Visual Aid 

[4] Non Projected Audio Visual Aid 

����� �
 �
 ��� �� �� �� �� � �4� � �47 �� �� � � �� �� � �� � 
 �#�
 �#�
 �#�
 �#� �

�+ �� �

[1] � " � �� �� �

[2] ) � �-�-� �� � �

[3] � �C �� �

[4] � �� � � ,�

  
����� The following is not a type of 

brocade fabric : 

[1]  Kam khwaab 

[2] Ab-e-rawan 

[3] Bafta 

[4] Toranj 
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����� � �� � �� / �� � �� � ?�$ � � ) � *��
 %"� � �� � �� 9� �,���
6 � � �" � � 
� "� "��� � � � �� � ��� � � �� � �+ � � ,
� ��
"  )� �, 7 ��………….. T � % �� � � �� �� � ��+ !�

[1] � #�� � �� ��

[2] ��� �� ��� �� % �� ) �*�� �

[3] � #�� � �� ��

[4] �� � � �� �� �� �

  

����� Under the Consumer Protection Act, 

the District Forum entertains cases 

involving compensation upto Rupees : 

[1] 30 lakhs 

[2] 50 lakhs or more 

[3] 20 lakhs 

[4] 15 lakhs 

����� � G ��� � � � � � ) *% %
 � � # � �� �� � �� *�� "� � 9� �
 �� �
� �� �#� � � �
 � � �� � ���� � �� �
 � �( � #� � � � �
� + %� �� �� �� ,�� � � �+ � � U�

[1] ) � �� � � 
�

[2] � � �� �� �� �?�� E� � �� �

[3] ) � �� � �� ��� ?�� E� � ��
�

[4] � � � �) *% % 
��

  
����� In which method of child study, 

questions are completely formulated 

prior to interaction with the child ? 

[1] Observation 

[2] Structured Interview 

[3] Free Interviews (Unstructured 

Interviews) 

[4] Case Study 

����� � ��
� � #� � �� ?�� � ) �+ � � � � � �� �� �� < ) � #
 �
�� 3 � 4� 4� �,  �� ��
 � � � 4� � � % � =� � �� �?%� ��
�+ �� �

[1] " �H ��� ��� %� � � � "� � � �% �
 V� � � "1� %� �- �� �
�  �
 %� �# �" �� ' � �� �+ ���� � �� ��� �� � 
 �!�
�

[2] � � �� �E "� � ) �E" � ) � *�� � $� �� ) �+ ��
� � �� 
�E "� � �� �; $ � �� � �� � ��� � � � 
�! �

[3] ." � �� � �� � � ) ���� �
/�
 �� � 
#� � �� ����
� � 
 �!�

[4] � � �#� �� � � ��� �# � �+ � !�

  
����� The objective of Early Childhood 

Education and Care is : 

 

[1] Developing adequate muscular 

coordination and basic motor 

skills. 

[2] Developing positive self concept 

and emotional tolerance. 

[3] Developing memory & 

observation. 

[4] All options are correct. 
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����� " ( �% �� � 
� �� � �
 �
� �� �� � �+ � � ��

[1] % �� � � � � � � �� "� � 
 � .- �� ���� � � 
 � � "� � �

" �� � � � �� ��+ !�

[2] % �� % �� ,
 �� � #� �� �� �� � � � ����� 
 ��� �+ ! �

[3] % �� � � %
 D " � � # � �� � �� ���# �� �� � �� � 3� � �� �

� � � �� �+! �

[4] � � �#� �� � � ��� �# ��+ � �

  
����� The advantages of evaluation are : 

[1] It helps to establish a bench 

mark. 

[2] It shows the progress of the plan. 

[3] It indicates effectiveness of the 

programme. 

[4] All options are correct 

��"�� Q� ��� � � �� � �� / �� � ) � *�� � �� �� � �R� "
 �% ��

,� �� ��+ � ��

[1] 20 ) �� + � �� � �� �

[2] 15 "� �
 � � ���

[3] 24 ,
� � #� � ��� �

[4] 11 "3 
 � � ���

  
��"�� 'World Consumer Rights Day' is 

celebrated on : 

[1] 20 April  

[2] 15 March 

[3] 24 January  

[4] 11 May 

����� ,� � � �� � � � � �"� � #� �� �� � � �/� �� A� � �� � �� � ��� ���

� � � � ��+ � 9� �1 �� ��………….. N � �� �� � ��� � �� �

��H �� .� �� � � �" � � � ��#
W � � �� % �� �% �� �+ ! �

[1] � 
� � �� � � �4 �8 �# 
�

[2] �� �8 �� � �� � D + 14��

[3] � � 8 '�� � �� � �� � � '� � � ��

[4] " �� �
 
 �" � 4� ��

  

����� The factors that influence the 

character of work have been classified 

by ….. as five levels of change. 

[1] Nickell and Dorsey 

[2] Gross and Crandall 

[3] Kotschevar and Terrell 

[4] Marvin Mundel 
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 ��� �� �� " � � � �� � � �+ 
-�#� � � ��� � � # �

K% �/ ��� �� �� *�� 
 �#�
 �#�
 �#�
 �#� � �+ �U�

[1] � �� � �) � + � �:� � �� �� �� + ���

[2] � �� � ��� � � ��
�

[3] � �� � �/ �# �
 ��

[4] ) 4 + �V' � �) - � �� �� "� 
� � '� �� #?�$ � �

  
��!�� Which of the following is not an 

individual method of communication ? 

[1] Farm and home visit 

[2] Farm publication 

[3] Farm clinic 

[4] Adaptive or Minikit trial 

��#�� TRYSEM < '2 � 3
 � � "=� � � ��� � ��- � #
 � �+ � � ��

[1] & �� ' � �) �+ �� �# "� � �� �� � �
�

[2] � � ( �"�#
 � �� � �� �� � ",� ( � �

[3] � � � #��� ) �+ � � ���� �� � ��

[4] � � �#� �� � � ��� �# ��+ � �

  
��#�� The beneficiaries of TRYSEM are : 

[1] Small & Marginal farmers 

[2] Landless agricultural labourers 

[3] Artisans & Craftsmen 

[4] All options are correct 

��$�� % �� � � �� 3 
 � " ����� 
�' #� ) � +� � "� � '# � �� � 9� � �� �

� �� � ) �
� � �� �� �� �# � � �47 #� � � � � %
� � � 
 ��

�� ��%� � �, �"� � � ��

[1] � � �#� ,��� & �� ' �� ��� � '� ��� �

[2] � 47 � � �6 �� � %�� � 4,7 � 3
 � �� ���

[3] � �+ 47 � �� �84 
 � �����

[4] � �+ 47 # ��� 'J' %� H ���� ��

  
��$�� If a woman is short and stout, she 

should select a saree that has : 

 

[1] Small print everywhere 

[2] Large figured designs 

[3] Wide borders 

[4] Broad stripes 
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����� Q� �; '2 # %� �� �� � % �� ,
 �R� �� �� � ;�
 � "� � � ��  0� � #�

�%# �- � #� U �

[1] 1969  

[2] 1979�

[3] 1981  

[4] 1990�

  
����� The 'National Service Scheme' was 

started in the year : 

[1] 1969  

[2] 1979�

[3] 1981  

[4] 1990�

����� � � �
 �� - �� �" ,� ( � #� �
 �
� � �� � ���� �+ � � ��

�

[1] " �
 ��� � ) � %�

[2] �� E% ?�� ) �% �

[3] ) �� E% ?�� ) �% �

[4] � � �#� �� � � ����� � �+ � �

  
����� Salary and wages are components  

of : 

[1] Psychic Income 

[2] Direct Income 

[3] Indirect Income 

[4] All options are wrong 

����� �
 �
 ��� �� �� ��8 "� �
 
� � � '# ��%� � ��' J%( ' �# � �� �

ò�� �� � 
 �#�
 �#�
 �#�
 �#� � �� � �� ��+ � ��

[1] � O � �# O � '#O � � �O�

[2] � 6 O �� �O �� �O �

[3] �� �� � + �/ '
�

[4] ) � 8 �/ �' �� �� 
�

  
����� The following hormone is not 

secreted by anterior pituitary : 

[1] ACTH 

[2] FSH 

[3] Prolactin 

[4] Oxytocin�
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� 
�3
 ������%�� ����%��,�����+���

[1] � #
� � � � 
 �3
�

[2] , +� �4
 ��  
� 3
�

[3] 4 �8 � #� � 
 �3 
�

[4] ' � � #� �� 3 �� � 
 �3 
 �

  
����� For making towels and napkins, the 

following weave is used : 

[1] Leno weave 

[2] Jacquard weave 

[3] Dobby weave 

[4] Terry Pile weave 

����� ��� ;� $ �� .� � � � �� ) ���
 � � �� �� �� �/ � � ,�H ��
�
 �
 �� � � ��.��� �+ �� �
�

[1] � � - �� � � �� � "� �' 2� � ) �� �
� < " �
� �" ���
) � � �
 =�

[2] , +� � �� �%� 
� �) � ��
�

[3] � /� �
 � �� <
+ � �� 
� = �) � � �
 �

[4] � � �� ,
 �� � �� � *�� �,�
� �� #�

  
����� Blood/serum investigations for 

assessment of nutritional status are a 

part of : 

[1] Anthropometric assessment 

 

[2] Biochemical assessment 

[3] Clinical assessment 

[4] Dietary information 

��"�� �
 �
 � � � � ��% �� �� 
" � � � � � 6 � � �' 
 �6� � �� 
� "� ��

�� %� �, ��� � �+ � ��

[1] ��� ' + ��� %" �� �6 � '�

[2] � �� �4 %" � )� %� � 4� 34�

[3] ��� ' + ��� %" �) � %� �4 � ' �

[4] � �� �4 %" � )� %� � 4� '�

  
��"�� ………….. is used to fortify 

common salt. 

[1] Potassium Sulphate 

[2] Sodium Iodide 

[3] Potassium Iodate 

[4] Sodium Iodate 
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� �, �� �� ���; '� ) �% �
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� �3 � �4 � �� �� � � '# 
� � �� � �- �� �� *� �� � �+ 9� ���

� ��� �� ��+ � ��

[1] �#" �� �� 3 4� �� 
 �

[2] 6 � � � �' 
�

[3] ' 2 �� �6 � �� 
�

[4] � � �J% ( �� � V�� �."
�

  
����� Ferric Iron binds with a specific Iron 

Binding Protein called : 

 

[1] Hemosiderin 

[2] Ferritin 

[3] Transferrin 

[4] Ceruloplasmin�

��!�� �
 �
 ��� �� �� � � � 9� �� ,� �� " � � � �" ��� '� � �
� �

�� � � ��% �� ��" � � �� �% �� ,�� �� �+ �� �

[1] � � � � #� �� ��

[2] ) � ���� ' � � � �� #,�

[3] " � '� � 
� �% �����

[4] � �� �� �� � � � � �� ��

  
��!�� The following is used to adulterate 

Bajra : 

[1] Kesari dal 

[2] Ergot seeds 

[3] Metanil yellow 

[4] Iron fillings 

��#�� % �� � � � � 4 #O � �
 O � � O � " � � � ���.- � �� 
 �#�
 �#�
 �#�
 �#� �

��� � �� �+ � ��

[1] � 4� 
 #
� �

[2] % ( � � ��� �

[3] � ) �� 

 � �

[4] � �3 '� � �#
 �

  
��#�� The following base is not found in 

DNA : 

[1] Adenine  

[2] Uracil 

[3] Guanine  

[4] Cytosine�
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��$�� " ���-���� � � � � ………….. �� 9� ) E% �*� ��

� � �� � ��� � � � 
� � �� � ) � + �� �
% � A$ �� � � �
 � � �� �

� G �� � "� � � �� �$ � �" .�0�� ) �E" �� ��� �� � #� � " #�

) �� #� �+ !�

[1] ) � ��� � ?� $� �� �
 ��

[2] ) 
  "� �� �� �
 ��

[3] ) .� #� � � �� � 
 ��

[4] �?���� � � � 
� �

  
��$�� Parental ………….. consists of 

excessive care and control over the 

child and results in lack of self- 

confidence. 

[1] Overprotectiveness 

[2] Permissiveness 

[3] Rejection 

[4] Favouritism 

����� � �� � ,
� "� �� ………….. 4� �
 � � � �� �� 6 ��

4 �3 ) �8 / ��3 4 � �+ �� � 
� #� �+ � ,� � � �( ?", #� �� � �

� � � � 
;' � � � �# � �+ � ) �+ � � � �� � ,
� " �� � �
 �� �

�� �� �� �� � � � �� � � �# ��+ !�

[1] ��� ' + ��� %" �" � '� �� 3� � 6 �3 ' �

[2] � �� �4 %" � �� 1,7 �� �'�

[3] � ��' 2 � � �� �4�

[4] ��� ' + ��� %" �� � 1,7 � � �'�

  
����� The addition of ………….. produces 

sulphur dioxide gas which destroys 

and prevents the entry of 

microorganisms in food. 

[1] Potassium metabisulphite 

[2] Sodium benzoate 

[3] Citric acid 

[4] Potassium benzoate 

����� � � �' 
� �" � � �"�+ , ( �� � �8 4 J�� �� �� � *�� � �+ � � ��

�

[1] � II�� � �� � ��� �� � �; '� �� �

[2] " � �� �� � ��� �� � �; '� �� �

[3] � � ��� � �; '� �� � �

[4] � � �#� �� � � ��� �# ��+ � �

  
����� The rods present in the retina are 

concerned with : 

[1] Bright light vision  

[2] Dim light vision 

[3] Colour vision 

[4] All options are correct�
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���� � ���������

����� �
 �
 ��� �� �� " �� � �� � � �+ 
-� �� � � #� � � �� � A��

� �� �
 �E "�� X ,�
� ��� � �� �� � � � 
 � � "� �� ���% ��

��� � �� �+ � U �

[1] � ��� + ��
 �

[2] � 4.V �� ."� � ' � <�� .- ���
= �

[3] " ( 4# 
� ��

[4] � � �#� �� � � ��� �# ��+ � �

  
����� Which of the following is a common 

way of releasing pent up emotional 

energy ? 

[1] Regression 

[2] Displacement 

[3] Moodiness 

[4] All options are correct 

����� �( � #� �� �� � � �� � �� �� .� � $ �� � �� � �+ � � 
9� ��� ' � � �� �

) �% �� � �� � �� �  � � " �� � � � �  ���� �� % �� ,�� �� �+ 9�

�, �� � � ��� ,�� �� �+� ��

[1] � �� � � �

[2] � � � ��

[3] �+ / � � �

[4] � + L��

  
����� While processing cotton fibre, the 

lint is compressed into rectangular 

packages called : 

[1] Rolls  

[2] Bales 

[3] Packs  

[4] Bags�

����� % �� & �� 3
 � � �� *�� � � � 3 � '+ �L�% �� � �� �D % �� �+9�

,��H � & ��3 
 � *� ��  � "� � � � ' #� � 3 
 � �� 3
 �� � � �� � � #�

,� �# ��+ � ��

[1] 5� �8 �� & ��3 
�

[2] � �� � � �& �� 3
�

[3] .D # 
� & ��3 
�

[4] � �� '� � & �� 3
�

  
����� This printing method is an intaglio 

process, where the printing is done 

from lines cut into the metal : 

[1] Block printing 

[2] Roller printing 

[3] Screen printing 

[4] Batik printing 



����� ��"����

��	�
��
���� � �

��"�� � .�� .' �8 �� �- � �� 6 �3 �� � L ��� � �
 �
� �� �

� �� �� $ �� �+ � �� �

[1] � "� S�� 6 �3 � � �

[2] � �� 
,� 6 � 3� ��

[3] � �, � 
� � � '�4 � 6 �3 � ��

[4] W � A" �6 �3 �� �

  
��"�� Asbestos and Fiber glass are 

examples of : 

[1] Blended fiber 

[2] Mineral fiber 

[3] Regenerated fiber 

[4] Artificial fiber 

����� �
 �; D %� � '2 � V�
 �� , � 
� � ��� �� D %� � '2 � V�
�

� � ,�3 " � " � � � ��� � �� 
 �� � � 
� � � � � ����

………….. �� ,� 3 "� � #� ) � ��% � � �� ��

��� � #� �+ !�

[1] ��3 4 2 �� / ��� � �� �) ���

[2] 3 � � �V �
�

[3] � � '� � � � � �3 
� , 7�

[4] �� �V �
�

  
����� For conversion of inactive 

trypsinogen to active trypsin 

………….. enzyme is required. 

 

[1] Hydrochloric acid 

[2] Erepsin 

[3] Enterokinase 

[4] Pepsin 

��!�� ��� � Y 9� , #� �� % �� ,�4 7 � � � #� �
 �;D % �� � � � � � � � $��

) �� � � � #� � � �;� $ �� � ��� ………….. � ��� ��

,� �� ��+ !�

[1] � ��.�� ��< �  �� �
 �=�

[2] .� �� � �� < ) .�;'� � G ��� $ �= �

[3] .' '� � � �� < �� ��
 �= �

[4] / �' �� � ��< � �� � �� � � � � ) ?�� � � V� ���� 
 �= �

  
��!�� Indistinct speech due to inactivity of 

lips, tongue or jaw is called as : 

 

[1] Lisping 

[2] Slurring 

[3] Stuttering 

[4] Cluttering 



 ��"���� ������

��	�
��
���� � ���������

��#�� �
 �
 ��� �� �� "� � � �� � � �+
 >� #� �� � D %� � " � � � � � 8 '
�

�� � ��� � 4% "� �� 34 2 �8 / �� 34 � �� � � �8 �� � '� 2 '� 4�

< �� � �� � �= �: ��� � �� �� � ��� %� �, �� �� �+ � U �

[1] " �
 � �3 �, � �� � �

[2] .� � �� � � ��

[3] � �� �, � 7 �� � �

[4] 4 #��" � ��

  
��#�� Which is the process in which cotton 

is treated with a concentrated solution 

of sodium hydroxide ? 

[1] Mercerising   

[2] Scouring 

[3] Singeing  

[4] Degumming 

��$�� ��� � �� �� �� �*� � N � �� � �
 �
� ���� �� � � �� I% � �� � - �
 �

�� �� � ,�� � ��+ � � ��

[1] ) � 4 ��

[2] " & �#�

[3] 6 ��

[4] � � �#� �� � � ��� �# ��+ � �

  
��$�� Poaching is a method used to cook : 

 

[1] Eggs 

[2] Fish 

[3] Fruit 

[4] All options are correct�

����� �
 �
 �" � � ��� �� �+ 
-� �� � - �
 � �� ��� ��� ��� � � �+ � U�

[1] .� 
��
 � � ����  � � �� � � � D "$ � � �� � ��

� �� ��� �+ !�

[2] .� 
��
 � �� � "�H � � - ��� � �� �� � � � � �# ��

,  4 7 �� � ",7 � ( �� ��� � �� �+ !�

[3] � ���� � � �� � ,1 "� � � � & � � "� �� �� � � � ���

" �H � � �� �( *�� � � 
�� ����%� !�

[4] � � � ��� .'2 " � � ��� 6 �� �� � � 
�� ����%� � /% �� � � ��

% �� �����  � � #� �� �� � � �� ���� ��

��� 
� � � � ��+ !�

  
����� Which of the following statements is 

false  ? 

[1] Breastfeeding protects the infant 

against infection. 

[2] Breastfeeding strengthens the 

bond between mother and child. 

[3] The infant should be exclusively 

breastfed till six months of age. 

[4] Colostrum should be discarded 

as it is unhealthy for the infant. 



����� ��"����

��	�
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���� � �

�"��� � � � � ���� � � � � ���� & ( 
 � � �� � � �� ) �
 �� � �� �

:�  "� ��� �+ � ) �+ �� " � �� �� �� ���� �+ 9� % �� 3� � ���

� � � �� �+ � ��

[1] " �� � �� � ��C �� / ��

[2] 0� � '� �� ��C �� / ��

[3] �� �.�� ��C� � /� �

[4] � + �� � .� #� ��C �� / ��

  
�"��� An infant turns it's head and opens 

it's mouth when touched on the 

cheek, which indicates : 

[1] Moro reflex 

[2] Rooting reflex 

[3] Grasp reflex 

[4] Babinski reflex�

�"��� �� �+ �� �� � � � �
�
� �?�$ � ���� � �� �� � �+ � � ��

(i) 4 "� 
 ' �3 �' ��

(ii) 4 �% �� %� �< � .� = �

(iii) � 4" � � ���% ��

(iv) " � E%  �< % �� � ����� � 
� ��� � �� �=�

� �#� �#� �#� �# � � �� �� ���  �
� � ��

[1] (i), (ii) �- � ��(iii) 

[2] (i) �- � ��(ii) 

[3] (ii), (iii) � - �� �(iv) 

[4] (i), (ii), (iii) � - ���(iv) 

  
�"��� Pellagra may be characterized by : 

(i) Dermatitis�

(ii) Diarrhoea�

(iii) Dementia�

(iv) Death (if not treated)�

Choose the correct option : 

[1] (i), (ii) and�(iii) 

[2] (i) and�(ii) 

[3] (ii), (iii) and�(iv) 

[4] (i), (ii), (iii) and�(iv)�



 ��"���� ������

��	�
��
���� � ���������

�"��� � G ��� � � "� � � ��� �# �� �� � �� � ����� � � #� S� $ �#� "� � �

�
 �
 ��� �� �� ��� �"� � 
 �#�
 �#�
 �#�
 �#� � �+ ���

[1] ) � *� ��
�

[2] � �� � �
 �

[3] ) � .- �� �� � ��� �� ��

[4] � �� �) �� �*��

  
�"��� Physical handicap in children does 

not include : 

[1] Blindness 

[2] Deafness 

[3] Orthopaedic Disability 

[4] Juvenile Delinquency 

�"��� � G �� L� �3 �� � "� � �( �� �� � � �� �� � � � �� I%� �� � - �
 �

� �� ��� � � � �+ � � � ,
 � �� L��3 �� �" � � � ( �� � ���

………….. ��� � �� �+ ! �

[1] > 70�

[2] 55-70�

[3] < 55�

[4] � � �#� �� � � ����� � �+ � �

  
�"��� High Glycemic Index foods are 

those which have a Glycemic Index 

of : 

[1] > 70�

[2] 55-70�

[3] < 55�

[4] All options are wrong 

�""�� �
 �
 ��� �� �� ,� '� � *����� � � < � � 8 �V�� / �� % �
 
 =�

� � �� � ���$ � ��+ � ��

[1] .� �� %� 

 �

[2] C �� 8 � � %�
 
�

[3] 
 �8 ' �% �
 
�

[4] � � �#� �� � � ��� �# ��+ � �

  
�""�� The following are examples of 

complex yarns : 

[1] Slub yarn 

[2] Flock yarn 

[3] Knot yarn 

[4] All options are correct 



����� ��""���

��	�
��
���� � �

�"��� � �%  
� � < � �" � � �%� =� �� �� �� � �� � ��� � �� � �+ �

�, �"� � � ��

[1] � �� �/"� E % � � �� � �� � � �� ) �� �� � ����

� �.� �� � � �+ � ) �+ � � �( � � �� ��+ � � ��!�

�

[2] � �� �� ) �+ � � "� �� �� �� � �1
 �
 ��� %� �� "( � �

� � �) � �� � �+ � !�

[3] � 3 
 � 1% ( �/ �% �� < �� "�$ �  =� �� � �� �� � � �

� �- �� �� *� �� � �+ �� ) �+ �� :� � � � -��� �G � �� �� � #�

� � � �� �� �� � � � �� �� � ,7 �"�� �� # � ��Z� � ��

� � � � ��+ � ! 

[4] � �� 
 �� � � "� ��>� �� �� ) ��-) ��� *�� �" 
 ��

� "( ��� � �) � �� � �+ � !�

  
�"��� Communal family is a family in 

which : 

[1]  After death/divorce, one parent 

is real and the other is a step 

parent. 

[2] Father and mother come from 

different racial groups. 

[3] Several nuclear families band 

together and share responsibility 

for the care of home and 

children. 

[4] Two parents come from different 

religious groups. 

�"!�� �" �S �� ) - �� �� � �8� ��
 � ��
� � .A� �� � � � � � �� �
� � �� �

�� �� �
 �
 ��� �D %�� ) �
� 3
 �,� �# ��+ � ��

[1] D � 8 �� � � �� 3
�

[2] �#� �� � ��3 
 �

[3] ' �8 �� �� ��3 
 �

[4] � � �#� �� � � ����� � �+ � �

  
�"!�� The process used for dyeing blended 

or combination fabrics is : 

[1] Cross dyeing 

[2] Piece dyeing 

[3] Top dyeing 

[4] All options are wrong 
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� '� � � ' ��,� 1� � � �� � � �$ �� ��� � �� "� �� �� ��
�

��� � �� �+ 9 �� ���+ � � �

[1] 4 2 �� < � �� �� = �

[2] � � D "$ ��

[3] � �� � � $��

[4] � � �#� �� � � ��� �# � �+ � �

  
�"#�� Teratogens causing deviations in 

development include : 

[1] Drugs 

[2] Infections 

[3] Radiations 

[4] All options are correct 

�"$�� �� 3 �� ,7 � � � ,�3 " ��� �� � �� � ��� $� ��+ � U �

[1] ' 2 �� �6 � ��, 7�

[2] ��3 4 2 �� �� ,7�

[3] ) � 3� �� " �� � ,7�

[4] ) � 8 /� #4� � �� 4/ ' � ,7�

  
�"$�� The enzyme lipase is an example of : 

[1] Transferases 

[2] Hydrolases 

[3] Isomerases 

[4] Oxidoreductases 

�"��� �� 	 �
 �E"� � �� � � �� � �� � �B �� ��

………….. 
 � � �� %� �- � �!�

[1] 0� �� � �

[2] F � %4�

[3] , #
� ��% �,� � �

[4] � �� � � � �� /� 
�

  
�"��� ………….. gave the theory of 

Cognitive Development. 

[1] Rousseau  

[2] Freud 

[3] Jean Piaget  

[4] Erik Erikson 
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����� ICMR, 2010, � � � ) 
 � �� � � � � *� �A #" ����

� # � � +� ��� %" � � # � �� � �� �
 � ) � ��% � �� � ��� � #�

�+ �� �

[1] 1500 �" O � �� � O��

[2] 1200 �" O � �� � O�

[3] 800 � "O ��� �O � �

[4] 600 � "O ��� �O �

  
����� The RDA of calcium for lactating 

mothers according to ICMR, 2010 

per day is : 

[1] 1500 mg  

[2] 1200 mg 

[3] 800 mg  

[4] 600 mg 

 



�����������	
������������	
������������	
������������	
�������������	��
� 



 

��� ��������	��
���
�
������	����� ������������������	���	����������������
������������� ��!�����"�
�#�����	��$%���&��� ��' ��"��(�

���������������� 
)���*�����& ��' ��
����'��������#�+'�
� �&�
���������������
	�����,����	������!�����"���(�

�����������������
 �&�+	����- �&����������	���!���&����"�������)��	��
����'��������
#�+'�.�

� �
��� �������� � � �	� � 
�����	��� � ��� 
������ ������ 
��� � �	� � ����

������ ��� �
�������� �	������� ������� ������ ��
��� �
���
�	��������
����	������	����

�����������������

����
�����������������
������	��������������
������
��������
���	����

�����������������

��� �	�� ������	��� ��
�� 	��� ������� ��� ����� ��� ���
���� 
�� 
�

��	���
�������

��� �/�	� �� ����0�1�2�	�� ���� ��� �� ��#��	�� ��+� &$� '��� ����$�#'"� ��� "$� 	���.�  !	�����	��� ��	���� ��� �	��� 	���� ��� ���� ��
���

��	�������������"�����	���		������	�������
���#�

��� �!�$�
����	����$%!�
������	����"$�)��	��	���.�)����
����� ������	�)��	��	���.�
�����&����"��1��������#	�3�/�&�45 �67�	���� ��'�
���8�9�"�.� ����
�������
����	�������	�����	������$%!��������&�����	�����%
����	�������	������
���������'��������

 �����������#�����	��
��	�����	����
������
�������#�

��� ��: �	������	����+��&+�'+�%�����	5������������
�%����	5��	����+�$%!�
������	����	����+	��;���	���"$����$���"�	��������������������
���!����.�+	�����
����)��	��	����	����&�
����&����"$��#���	���"�.� $���	�������	���
�����
�������	���
���
�����	���	����	���

������� �	�� �����	���
���	���
���
������ ��� �	�����
��������	����������������
����
���(	����(���	�� ����$%!��������

&����������
������	�����
���������	��
��	�����	������
�����#�

����)! <�$���1����%��	���� �	����
������	�	������6=����#�+�+���
�����	�����)> �����������'�+?.�)! <�$��)����)�1@���	�
������	�����
����������2<����	��)����A��)> ����������.� �����
����
������	�������������
�������������&���������	���	������)	��	���
���


������
���
���	�������������&������)	��	���������	���!	���*	��
��������������+����� �������������������
����������

�������&�����#�

���� ����0�1�2�	��+���
������	�	��� ������	��� ��'�	���
�A ����	��	�$�!�$�����2<��������3����0�1�2�	��+���
������	�	��@���	������!�>����	$��2<����
	���B��6=	�7�&���$�&���$�&���$�&���$����������������������1�1�1�1�2�	������
��C����"$��	������#�+'$�2�	������
��C����"$��	������#�+'$�2�	������
��C����"$��	������#�+'$�2�	������
��C����"$��	������#�+'$.� ,
����� ����"�����	���		�����
����������&�����������
����
��

�������	���������
�����  �+����� �	���������
���� ���"�����	���		�����
����������&�����&���
��*	�#��	
��
����������

�������
��������������
���������������#�

���� ����0�1�2�	�D
������	������&+�'+�@���	�	���)! <�$���"$���$	�����"2��E���%��������������.� �����
����
������	���������������	������

*������
���������������"�����	���		����-�������&������������&���
�����.�
���#�

����)! <�$��	�����$E���"���D	E����������������)�����"%������	��)����A���	�$���	���	$���FG 0���'�$
��1�&��� ��"2��������	�'#�	$���%� �?
�
��#�
���������/���
����A�H����	�
�	���� ���	�$�)> ���	���	$����'�$�	������#���� ��
� ��'�	����	$�)�1�����"$��"�.� .
����
����
���

�	��
��	�����	��
����
�����+��
���
����
�����������	����������������	���
�������
������	�������	����������	�����������	��


���	������
����
���+���������������.
���
������������.
���������������+
���
��	���
��-�		��#�

���� � ���E�	�*������B��#���������: �	�)! <�$��)�����������	�6��3�������I7�)�����"%�������&���+?.� /
����
����
����������	��	�����
���

���-����������.
��� !	���*	�#�
�������������
����	������������
�	��#�

� �� 	�>&��)��$E�	� ��� ���E�	�	$������8��)�1����	�������	�����)! <�$��)����2<������B��6�=�.� *	��
����
��������	��������
����������	��	��

����&��������������	���������
�	�����	������
������-������
��#�

���� 	� ����� ���E�	�	���)����
������	��&+������+���"2��E���%�������&�������"2��E��� �	+������)! <�$����$E���"�����"$��B��6�=�'�.� �&��	�$�
)! <�$�����&���$�����"2��E���%�������"2��E����"$���	+����� "������#�+'���	�
����
������	��"$������� ��"��)���� "�)�1�%��������	��
�����������#�+'�.�!"#����
������	����� ����������2<�������
������	����� ����������2<�������
������	����� ����������2<�������
������	����� ����������2<��������!�$�!�$�!�$�!�$����)! �<�� ����*������ ���"�<��	��)�'�F��	����)! �<�� ����*������ ���"�<��	��)�'�F��	����)! �<�� ����*������ ���"�<��	��)�'�F��	����)! �<�� ����*������ ���"�<��	��)�'�F��	����������������������������'� ��#����"�.�'� ��#����"�.�'� ��#����"�.�'� ��#����"�.�)�'�F��	��)�'�F��	��)�'�F��	��)�'�F��	��
��������'������ ��������	��� ��������#�+��	�2 ���������'������ ��������	��� ��������#�+��	�2 ���������'������ ��������	��� ��������#�+��	�2 ���������'������ ��������	��� ��������#�+��	�2 �"$��"$����������"$��'����#�+�)<����G�2 �"$�	$�������������"1��)���	�"�������"$�"$��"$����������"$��'����#�+�)<����G�2 �"$�	$�������������"1��)���	�"�������"$�"$��"$����������"$��'����#�+�)<����G�2 �"$�	$�������������"1��)���	�"�������"$�"$��"$����������"$��'����#�+�)<����G�2 �"$�	$�������������"1��)���	�"�������"$�
�"1�� 	�.��"1�� 	�.��"1�� 	�.��"1�� 	�.�  ���� �
����
���� ��	���� �	�� ��
��� ���� /+
���
��	�� ,
��� ����	��� �
������ 	���� ������ ������� &����� �	� ����

�������
�	��	�������
���������������&���
�����.�
����������.
����������
��
����
����
���	�������������&���
�����.�
���

���	������������������������	���	��
����
�����	���������������&�����
�����
��������
��
�����
�����
����
����$���

%	
���	����
	��� ���	���&������
	
�� �
�'���'�������
��
� �
��!"#�	
������
����	�� �
����	%�����%�������
�%
�

�
���������������(��
����������
�(��
�����
���������
���������
��������������
�
	�����#�

���� ���A�H����	D"2�%��������	�	�	��
� ��'���#���"�.� 0���	��/�����	���-%
��
��.
����
�	�������	��������#�

���� ��$E���"��������)�%����	����+
�)! <�$���������	������&$�'������@ �D�&���0��&����������6��	���!�$��� �����+������� �����	�������8��� ��������.�)�1�%��
��������� 	�� �!�$� �������� 	�� /����� ���6�� 	�� �� ����� +��� ���� ����� 	�� )�1���� "��'�.�  ���� �
����
���� 
��� �	������� ���

1���������-(�	������� ������ ��� ���� ���	��
��	�� ���������� 
��� !����� 
��� !����
��	��� 	�� ���� �	
��� ����� ���
��� �	� ������

�	�������������/+
���
��	��,
���������
����	�����
�����
�������������
��������
������!�����
���!����
��	���	�������	
���#�

���� �	�$�"������������0�1�2�	��)����
������	�	��	�����!��'�)�'���	���.� *	��
���	������"�����	���		�����
����������&�������
���

������
�����������
�����������
�����#�

���� ��$E����,�>��"�������
�)! <�$��	E�D"����B��6=�����������
������	�	E�0� ���E�	�	���)�� �������&��.�)! <�$��)������<���������0�1�2�	��	������
#�� �	��� "��.�  $�� �	������	�� 	�� ���� ������ ���� �
����
��� ����� �
��� 	���� ���� ������� &����� �	� ���� �������
�	�� ��� ����

!		�-,
���������
����
����
���
��	�����	��
���
�
�������"�����	���		���������������#�
 

����


	910-A.pdf
	ROUGH WORK2.pdf
	910-A_1-30.pdf
	910-A_31-45.pdf
	910-A_46-60.pdf
	910-A_61-90.pdf
	910-A_91-150.pdf
	ROUGH WORK1.pdf
	BACK COVER.pdf

